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@ sinx = AB cosx = OD tanx = OA
@ sinx = AB cosx = OA tanx = AB
® sinx = CD cosx = OD tanx = AB
@ sinx = CD cosx = OA tanx = OB

® sinx = BC cosx = OC tanx = AB
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® sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70
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@ siny = 0.82

@ cos(x+y) =0.40
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Zre | ARl (sin) | ARSI (cos) | BHHIE (tan)
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° | 0.7314 0.6820 1.0724
48° | 0.7431 0.6691 1.1106
D -0.724 @ -0.6820 ® 0.3903
@ 0.3180 ® 0.6820



\/(COSA —sinA)? + \/(sinA +cosA)? = V2 & o, tanA & gr2?
(T, 0° < A <45°)

@2v2 @ V2 ® V3 @ 1 ® 0



